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Qu ESTION ONE Aggregate demand and aggregate supply

4 Consumpiion Graph One: AS/AD model of the New Zealand economy
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Y T Real GDP

— (a) Explain each shift (aggregate supply and aggregate demand curves) shown in Graph One, and
the impact on economic growth, due to the construction and g&ration of Te Kaha.
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[ (b) Explain one disadvantage of using real GDP to measure economic growth.
Real GOP s the meaure of all gagay and Servieey. produredt in on economy,
adjued! fur price change. A dlisadvantage 15 fhof RGOP 01y measures
economrc foctors of qrowth , 1 hay yo way of Jneainirg of Bmpariy

non-economic 0¥ gocial fockgrs fhat ndlicaje jmwm intle termy of
Humar Oevelupmmr or Ufe BUNiky.

— - f -

— (c) Compare and contrast the impact of opening Te Pae Christchurch Convention Centre on:
WS"JWTH ferserim Aok f«esf —PCllh
(i)  Different regional growth rates in New Zealand.
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t (i) The distribution of income in the Christchurch area.
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QUESTION TWO: Impacts of economic growth

Model One: Circular flow model

(a) Referring to Model One, identify three flows that will increase due to an increase in astrotourism.

Fow . LXPO1Y Rec\hS T el A By B0
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/ (b) Choose one of the flows identified in (a) on page 6, and explain why it will increase.
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e (c) Referring to Model One, explain why an overseas tourist visiting Lake Tekapo might increase

growth more than a domestic tourist.
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; ( Question Two continues on the next page » )
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(d) Compare and contrast the impact of astrotourism on:

/4 (i) Government revenue and expenditure.
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QUESTION THREE: Production possibility frontier

In February 2023, Cyclone Gabrielle caused extensive damage to roading, water, and
farming infrastructure. As climate change is linked to more common adverse weather
events, the ability of New Zealand’s infrastructure to cope with these weather events
has been questioned. When roads, bridges, and other infrastructure are damaged, New
Zealand's productive capacity decreases.

/ (a) Explain why a weather event such as a cyclone leads to lower GDP. Include a definition of GDP
in your answer.

(ross Qomestic Product (Gop) 15 Qll Geols and Setves produceat v an
emﬂc'mtj ovel 0 period of Hime. AiS WEOHer event couse) damdg €

S0(d (Tz- creps

; o ood$ fhak can :
10 |N’rawuwerﬁ p umm mwmanu{acme oody and Seivies decraye) r-

an qwh Indl Rwies Precluced E-u\\s,deamsmo) fhemoney value and
Teal auput of Hie economuy teduong GOP.

One option is for the Government to increase taxes and use the funds to spend on
infrastructure projects that will help make New Zealand’s infrastructure more resilient to
these weather events.

4 On Graph Two below, point A represents the current combination of spending on consumer goods
and capital/infrastructure goods. Point B represents the combination of spending if the Government
increases taxes to fund spending on infrastructure.

Graph Two: Production possibility frontier

Consumer
goods

Co 4

Oppsititnity (uyy
PP Hy Cody il

(at Capital / infrastructure goods
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(b) On Graph Two on page 10, label the opportunity cost of increasing taxes to fund infrastructure
spending.

": 4 (c) Referring to Graph Two, explain why there is an opportunity cost of increasing taxes to fund
; infrastructure spending.

AS oxes increme o iNuense INCa3suie Yending e OPporunii (osy
isthe praduction Jinveshment i The consumer good_{?rom poiny Co o
(1) Becoue. NT i§ olieady pmmnam Al procuuive Copoeiry on e
CUIVE, ) ovder 10 NCease Spencing o (apial Gjoods, the foxed
[eSoures wust be teallocoted. ggganauy from (onfumer gooals.

< M writes
1 |n order 1o S‘penﬁfw nfcasirucruie e Ogoqermem Ciegdes an op@!mnﬂ
| (oS Of Ypending) on (onSumeér QoodS and the level produced.

/ Graph Three shows a future production possibility frontier (labelled X*) that occurs if the Government
does increase taxes to pay for infrastructure spending (point B).

Graph Three: Production possibility frontier

Consumer
goods X
)/ *

0\

X*
Capital / infrastructure goods

(d) On Graph Three above, draw a future production possibility frontier (Y*) that occurs if New
Zealand operates at point A.

C Question Three continues on the next page » )
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Referring to Graph Three, explain why the future production possibility frontier (Y*) you have

drawn shows a level of potential capacity different from the future production possibility frontier
(X*) created by point B.
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Extra space if required.
Write the question number(s) if applicable.
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Grade
score

Marker commentary

One

E7

The candidate gave a detailed explanation of the impacts of shifts
in AS / AD on economic growth. There was a detailed explanation
of the effect on economic growth in Christchurch and other
regions, as well as an explanation of why income distribution has
become more unequal.

To achieve and E8, another reason for a change in the income
distribution could be given, for example increased profits to
business owners in Christchurch.

Two

E7

The candidate gave a clear explanation of how export receipts
impact the circular flow model. There is a detailed explanation of
the impact of astrotourism on government revenue and
expenditure, and the impact of different groups in the Lake Tekapo
area.

To achieve and ES8, the candidate could have made a judgement
whether the change in expenditure will be greater or smaller than
the change in revenue.

Three

E8

The candidate explained the impact of the cyclone on GDP. The
opportunity cost of increasing taxes is explained, with reference to
the PPF model. The impact of the two choices regarding taxation
are shown on the PPF model and there is a detailed explanation of
the changes this would bring to productive capacity, with clear
references to the model. Context to the question was given by
relating the changes in the model to weather damage.






